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Chapter 12 Market Structure

Some firms are keen on advertising while some wishes to 

raise the price from time to time. What is the reason behind?

12.1 What is a Market 

A market is any situation in which transactions of goods and services take place.

Nowadays, many transactions are made through telephone and internet. 

12.2 Market Structure imperfect

Market structure is the relationship among sellers in competition in the market.

Sellers compete for factors of production, and also consumers. It includes price and non-price competition. 

Economists identify market structure into two types: Perfect and _____________ competition according to the following criteria

1. number of sellers and buyers

2. nature of products

3. ease of entry and exit

4. availability of information



12.3 Perfect Competition

Main features of Perfect Competition

1. Larger Number of Buyers and Sellers 

An individual seller is insignificant in the market, i.e. the market share is very (large/small).

e.g. Wet market 

2. Homogeneous Product the same
Buyers would have no preference on any individual firm as goods sold by different firms are ______________ to the consumers.

e.g. Newspapers 

3. Free Entry and Exit

New firms are free to enter and existing firms are free to leave the market without restrictions. 

e.g. Hawkers

4. Perfect Market Information

All market information are available to both buyers and sellers. 


Market Behaviour of Sellers under Perfect Competition

1. Price-taking influence
A firm under perfect competition could only follow the market price but could not ______________ it. It is because the change in supply of an individual firm has insignificant effect on the market supply, and hence the market price. As goods are homogeneous, a firm will lose all customers if the marked price is higher than other firms.  

2. Inexistence of non-price competition

Product differentiation like advertising and packaging is useless as goods are homogeneous in the eyes of the consumers. 

Do it together

1. (T/F) A market must have a physical location.

2. (T/F) Under perfect competition, no single firm can have a significant influence on the market price of a good.

3. (T/F) There is a large number of buyers and sellers in the stock market, therefore it is under perfect competition.

4. In which of the following situations that a market exists?

a. a domestic servant does the housework for her employer

b. a teenager voluntarily cleans the Home for the Aged

c. Mrs Lee prepares dinner for her family

d. The government provides free shelters for street-sleepers

Ans: A
Reason:Transaction of service of housework has taken place
12.4 Imperfect Competition 

Why competition Imperfect?

Competition is imperfect if any feature of perfect competition is not met. In reality, no competition is perfect.

With different features of perfect competitions not met, we catergorize them as different types of imperfect competition. From the following table, we would find that information is always imperfect in reality. 

	
	Monopoly
	Oligopoly
	Monopolistic Competition

	Large number of sellers and buyers
	(
	(
	(

	Free entry and exit
	(
	(
	(

	Homogeneous products
	(/(
	(
	(

	Perfect Information
	(
	(
	(


A. Monopoly

A monopoly is the only seller of a product without close substitutes.

There are several reasons for the firm to become the only seller in the market. As a result, entry to the industry is extremely difficult or impossible.



Source of monopoly power

1. government franchise

2. government ownership

3. ownership of important resources

4. economies of scale

Goods sold by a monopolist may be homogeneous or heterogeneous, which is not quite important. 

B. Oligopoly dominates
An oligopoly is one of the several dominant sellers in the market. 

There may be many sellers in the industry, but only some of them ________. 

e.g. banks 

Entry is restricted because of government regulation or huge capital/ technological requirement. 

e.g. mobile phone services

C. Monopolistic Competition heterogeneous
Monopolistic competition is a market structure where features of both perfect competition and imperfect competition can be found. 

In monopolistic competition, there is a larger number of sellers and buyers and there is free entry and exit, however, goods sold are _________________ and information is imperfect. 

Do it together

1. (T/F) An oligopolist will not cut the price of its product in any situations for fear of losing its market share.

2. (T/F) The Hong Kong and China Gas Co.,Ltd. Is a monopolist in the gas fuel industry in Hong Kong.

3. (T/F)There are two sellers – the China Light and Power Co., Ltd. And the Hong Kong Electric Holdings Ltd. – in the market providing electricity in Hong Kong, so they are oligopolists

4. In which of the following market strucutres that the firms face the keenest competition in Hong Kong?

a. Newspaper publishing


b. small food shops 

c. mobile phone services

d. postal services

Ans: B
Reason: b) has the most no. of sellers with the least entry barrier
Market Behaviour of Sellers under Imperfect Competition



1. Price-searchers

All sellers under imperfect competition are price-searchers. They could set their price independently. Some people would choose to buy a product even it is more expensive than others as goods are heterogeneous, i.e. some goods are better than the others in the eyes of consumers. They are willing to pay more for the good they prefer. 

With the fact that raising the price would not result in losing all customers, i.e. a downward sloping demand curve, the firm could maximize its profit by adjusting its price. 

However, oligopoly is a special case among all. 

Interdependence

Oligopolists could not set the price freely because goods sold by oligopolists are close substitutes to each other. They have to consider the response of their competitors in deciding their business policies. For instance, if one firm lowers price and the other does not follow, then the former one would (gain/lose) market share and probably more profit. As a result, the latter firm have to follow the price cut to avoid losing market share. A price war occurs if sellers try to capture more business from their competitors by repeatedly cutting prices. 



e.g. Newspaper



Price rigidity

As all oligopolists would lose from a price cut (do you know why?), they tend not to change the current market price. 


Price leadership

Oligopolists are price-searchers, usually in the way that major sellers set the price and smaller sellers follows.

2. Non-price competition

It is common for sellers under imperfect competition to engage in non-price competition. Some examples are advertising, packaging, after sales service, etc to promote sales.

Do it together

1. (T/F) An individual firm is a price-searcher under imperfect competition

2. Because of interdependence in oligopoly, product prices will be quite

a. high

b. low

c. responsibe

d. rigid

Ans: D
Reason: No oligopolist will gain in a price cut, hence price is rigid
Revision Questions

1. Cans of Coca-Cola are sold at different prices in different shops. Give TWO reasons why there is such a price difference. (4 marks)

Cans of Coca-Cola are sold at different prices in different shops because service provided by different shops are heterogeneous and imperfect information.

Service provided by different shops are heterogeneous because some shops provide a nice environment with comfortable seats for you to drink the can of Coke but some do not. 

There is impefect information in the market as consumers do not know the selling price of cans of Coca-Cola in all shops. They might have bought it at a higher price than other shops. 

2. State THREE features of the market structure of stores selling computer hardware in the Golden Computer Centre. (3 marks)

It is in monopolistic competition. It’s features include the existence of large amount of sellers and buyers, imperfect information and non-price competition such as providing after sales services. 

3. Personal computers of the same type are sold in many shops in Hong Kong at slightly different prices. 

i) Explain with an example why there is such a price difference. (2 marks)

ii)Identify the market structure of these shops. (1 mark)

i) The price difference is because of goods sold in different shops are heterogeneous. For example, seller A provides interest-free instalments while seller B provides one extra year warranty service.

ii) It belongs to monopolistic competition.

4. What is the market structure of petroleum companies (e.g. Shell, Mobil) in Hong Kong? Explain your answer. (3 marks)

It belongs to Oligopoly. 

It is because there is several dominant firms in the market (e.g. Shell, Mobil) and they are interdependent in price setting that if one firm marks up or down the price, the other follows. 
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